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m EAKES )L (tree-based model) & (&
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ol)zfkIEE  —[Ol)EA(regression tree)
NHEBIE > %EA(classification tree)
REA(decision tree)
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CHAID Hartigan (1975) D1 28HETE
AID(Automatic Interaction Detection)® Fifist=2
FE
C4.5/C5.0/  J.Ross Quinlan (1986) FI4E Lt (gain ratio)
See5 MimEE 0 7 JO0—F CRERUE

ID3(Iterative Dichotomiser 3)DeXEhR
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> library(mvpart)
> set.seed(20)
> iris.rp<-rpart(Species~. ,data=iris)

print(iris.rp,digit~1) Digit(dR IIED/NEIRA T D
n= 150 HIE 2 I8 TE 9 D512

node), split, n, loss, yval, (yprob)
* denotes terminal node

1) root 150 100 setosa (0.33 0.33 0.33)

2) Petal.Length< 2 50 0 setosa (1.00 0.00 0.00) *
3) Petal.lLength>=2 100 50 versicolor (0.00 0.50 0.50)
6) Petal.Width< 2 54 S versicolor (0.00 0.91 9.09)
12) Petal.Length< 5 48 1 versicolor (0.00 0.98 8.02)
13) Petal.Length>=5 6 2 virginica (0.00 0.33 0.67) *

7) Petal .Width>«2 46 1 virginica (0.00 0.02 0.98) *
> plot(iris.rp,uniform=T) 3 - .
. tcxt(i.r'is.PD,USQ.H—T,Oll—T) _— /\“Jb——/mvpal’tb\’r\/x h_)béntb\td:b\

ERDRIAINETFRIED
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Pelal Length< 2 45  Pelal Length»=2 .45

.

50/50/50

Potal Wadihe 1.75 | Polal Widih»=1.75

- .

SO OO0

Polw Longth« 4 95 | Potal Loangth»=d4 95

M

aw's QMAs

Mo e

4T/ a2/4

Plot&textx= FHUWNTO = J = 4ERK



| ARODIIE

> printcp(iris.rp)

Classification tree:
rpart(formula = Species ~ ., data = iris)

Variables actually used in tree construction:
[1] Petal.Length Petal.Width

Root node error: 100/150 - 0.66667

n= 150

CP nsplit rel error xerror xstd
1 0.50 2 1.0 1.19 0.049592
2 0.44 1 0.50 0 68 0.060970
3 0.02 2 90.06 0.11 0.031927
4 0.0% 3 0.04 -o 230551

\ Min+ 1 SE=

0.1+0.030551=0.130551



> iris.rple<-prune(iris.r .

> plot(iris.rpl,uniform=T ,margin=0.05)
> text(iris.rpl,use.n=T)

>iris.rp)

Potal Longth< 2 45 f Potal Longth>=2 45

Size of tree
1 2 h | 4
1 | | 4
=14
o | \\\
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Size of tree
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> 1ms.rp3<iris."pZ,i*is. test[,-5],type="class")
> table(iris, 5],ir1s.rp3)

iris.rp3
setosa versicolor virginica
setosa 25 9 2
versicolor ) 24 1
virginica 2 3 22

iv.J1> ~O—JL
— Help(rpart.control) (C CHEERRIBE
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rpartlC kB —~ carsDElEARDAER
(BEEORE ET L —FNSEILEETICHND DR DT —4)

> (car.rp<-rpart(dist~speed,data=cars))
n= 50

node), split, n, deviance, yval
* denotes terminal node

1) root 50 32538.9800 42.98000
2) speed< 17.5 31 8306.7740 29.32258
4) speed< 12.5 15 1176.4000 18.20000
8) speed< 9.5 6 277.3333 10.66667 *
9) speed>-9.5 9 331.5556 23.22222 *
5) speed>=12.5 16 3535.0000 39.75000 *
3) speed>~17.5 19 9015.6840 65.26316
6) speed< 23.5 14 2846.857@ 55.71429
12) speed>~18.5 10 1323.6000 52.20000 *
13) speed< 18.5 4 1091.0000 64.50000 *
7) speed>=23.5 5 1318.0000 02.00000 *




*plotcpluar.rp)

X-val Relative Eror

> plot(car.rpl,uniforms rgin-90.05%
>\ text(car.rpl,use.n=T)
Size of ree
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car.rpl<prune(Tar.rp, cp-0.044)

cp
S —4Acars@Dplotcp7Ow b~

4 DDE(CEETE
spead< 176 \ speed>=17 5

spood< 12.5 | spood>=12.5
18.2 3075
n=15 n=16

spend« 235 | speed>»2315
55.714 a2
n=14 n=5
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Z&0])% (multivariate regression)
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>spider[1,13:18]
water sand moss reft twigs herbs
1 9 0 1 1 9 5

> spider.mv<-mvpart(as.matrix(spider[,1:12])~water+sand+moss+reft+twigs+herbs,data=spider)

h herbs»=
arct lute erbs<85 | herbs>=8.5

® pard lugu
& 70ra.spin
pard.nigr
¥ pard pul
" aulo.albi
froc terr
® glop.cune
® pard mont
alop.acce
® alop fabr
" arctperi water< 5.5 | water>=0.5

167 . n=8

e ol _h-Jl-_
195 n=11 116 : n=9

Ermor: 0336 CVEmor: 0428 SE: 0.0716




> mvpart(as.matrix(spider[,1:12])~water+sandsmoss+reft+twigseherbs, spi de

F R

arct lute herbs= 85 | herbs==8.5

B pard.lugu
B 7ora.spin
pard.nigr
® pard.pull alop.acce
B aulo.albi
troc.terr
B glop.cune
B pard.mont
alop.acce
B alop fabr
B arct peri

water= 55 | water==55 H

167 :n=8

pard.mont

alop fabr

pard._pull

110854 |

T Y
195 n=11 116 :n=9

trocterr

pard.lugu

Dim 2 1793 %

Error: 0.336 CV Error: 0.414 SE: 0.071
Dim 1 82.07 % - [0.927]

> —/AspiderDZZE0FAR & EM D DEINE & DFEES
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>

¥y

l.tree

library(tree)
cars.tr<-tree(dist~speed,data~cars)
plot(cars$speed,cars$dist)
partition.tree(cars.tr,add=T,col=2)
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iris.tr<-tree(Species~, ,data=-iris)
iris.trl<-snip.tree(iris.tr,nodes=c(12,7))
iris.label<-c("S","C","V")[iris[,5]]
plot(iris[,3],iris[,4],type="n")
text(iris[,3],iris[,4],labels«iris,.label)
partition.tree(iris.trl,add=T,col=2,cex~1.5)
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I .Rweka

> library(RWeka)

> 1ris,j48 <- J4B8(Species~., data=iris)
> iPiS.j48

JAB pruned tree

Petal .Width <= 0.6: setosa (590.9)

Petal .Width > 9.6

| Petal .Width <= 1.7

| l Petal.lLength <« 4.9: versicolor (48.0/1.0)
| l Petal.lLength > 4.9

| | I Petal .Width <= 1.5: virginica (3.0)

| | I Petal .Width > 1.5: versicolor (3.0/1.8)
I Petal .Width > 1.7: virginica (46.0/1.0)

Number of Leaves S

Size of the tree : 9




> install.packages(“party” ,dependencies =TRUE); library(party)

>plot(iris.j48)

Petal Length

549

>4

Petal Width

=15 >15

L A
(3.0) (3.01.0)

Pehl.Widlh

il

@

>plot(iris.j48,type = c(“extended”))

1

/315 >15
.lv”‘ ook
(Q.O) (30) | | (3.01.0) | | (46.01.0)
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s 2pAEd
cars,.ct qa;) st~. ,data=cars)
plot(ca”

t.style<-node_hist(cars.ctr,ymax=0.06,xscale=c(9,158),col="red",fill=hsv(0.6,0.5,1))
plot(cars.ctr, terminal_panel=t, style)
|
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